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The idea in this QUIZ is

Q-15-1. Identify —32% + 2~ ! — 2272 + [4x3 —x+3+221— 3:1:_2}

Your Work:

i. Explain your reasoning in getting your result.

ii. Circle which of the following choices corresponds to your result.

LAx? 4342271 — 372

. 3r+14+2271 —3272

—42® + 40— 3+ 3z —5a?
422 —3 -1z +3+32x 1 —5a?
. None of the preceding
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Q215-2. Identify

—5rt — 2 4522 +4r B —4a® — 2246245

Your Work:

i. Explain your reasoning in getting your result.




ii. Circle which of the following choices corresponds to your result.

. =5zt —62% + 422 + 102 + 5
. =52t 4+ 22% + 622 + 102 + 5
—5xt + 223 + 622 - 22 -5

. =5zt — 623 + 622 + 10z — 5
None of the preceding
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